PART -
(2) REASONING ABILIT arfdes drger

Which one of the followmg is mirror lmage Of L gd § ¥ HI IqgF SpIa I B IGIEC % |
the above figure when mirror is placed al'('S'ng | f e 5
the line AB ? s Suid ST 2T %1 Y@ AB T @1 T E
) ) 9
1) D |9 @ |P D D 49 2 P |D
¥
&) @ |4 )F : @ @ )p

3?. What is related to the numbers 3,4,5 39, 'G@Ie'ﬁ‘:a, 4, 5 TR T NS G o S

L2, TS L, 4,9 ¥R

@ 3,825 | ; @ 3,611 - @ 8,8,25
@ 9,16, 25 U@ 81625 g 9,16, 25
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33.

I I e
There is some relationship among the abovE
two figures. Out of the following figures select

the set ofﬁgureg that have a relationship Blmﬂar | i

to‘that in the above figures :

[ ]
o .
A I
L
® .
1
/
®
@ | U ;
I /
]
@ :
.

In a certain code language ‘PRINCESS’ is

‘SPICEJET in the same code language ?.

(1) JEICPSGV @) JEICPSFV~
.3 EJICSPFV @ JECIPSGU
35.

mother is daughter of Inder’s mother’s sister.

written as ‘ECINRPTU’. How will you write

Inder is a man and Sahejis a woman. Sahej's

m@.ﬁﬁ%ﬁa‘lﬁww“%' et

arpfedl & & v st w1 gra FE
aﬁmu%sﬁma@ﬁﬁtﬂ%

- ) 0 ]

1I
: ’;7_' D ®
® | s
I i
. .
@ 40
B i ®

I i o I1I

m %< 9 # ‘PRINCESS’ %1 ‘ECINRPTU -
. foran s §1 3 He T § ‘SPICEJET ‘q'?r

ﬁmwmm7 \(2‘/
7 @ JEICPSGV JEICPSFV
JECIPSGU

_(8) EJICSPFV

| Wwwwuﬁ@r@ﬁ%n W FI T
Waﬁwﬁaﬁﬁéﬁ%l Hesl 1 T Q

How is Sahej related to Inder ? ; g
(1) Grand-daughter @2  Daughter , /A @ 2
(3) Sister 7 (@ Niece i 4 sl
AN
18A7 SPACE FOR ?QU wong/wmr&aafgqu << C-7
LT S e B
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Observe the following words carefully :
hopeful, helpful, healthy, healing, heating.

36.

If we arrange these words in dictionary order, |

|\ S < e 8w A AR AR

which one of these will be at the third placel?

36. - frfafeg weai A @M | : @
{ hQﬁeful, helpful, healthy, h a]in.g, heating.
1 o vl ) VR & A oAafer R

(1)  healthy (2  healing i
(3)  heating @)  helpful A 1)  healthy @) ilef]in@
Rt :
' 7l heating ) elp
37. A man is standing near a clock tower. He“l ‘w ° & f'-'-@
moves southwards to reach a point ‘P’, 8 km | g7 FE fe T2l W F 6 el $1 = gferor T
from the clock tower. From ‘P’ he turns right, 3 e fig P W qé'?ﬁn TR fFHa R
then moves 6 km to reach a point ‘Q’. From ‘Q it o 31 T fig P’ @ T AEH 6 feptit
he moves to right again and reaches a point 8 Tel i~ S ¥ ﬁ@ ‘Q AT
‘R, 10 km from ‘Q. From ‘R’ he turns right | % 3R ﬁ‘g’ QT §\., .
and reaches a spot ‘S’, 6 km from ‘R’. How far e g fdg ‘R W qgaai.%ﬁﬁ o ﬁl—s’; Q q
and in which direction, he is from the clock | g frri g &1 foig ‘R’ | o8 T Gt WM ‘S’ W
tower ? : ‘ ‘ = %Gﬁ‘R’ﬁ.GﬁTﬁTﬁ{ﬂW%l 34t 9%
(1) 18 km South @  4kmSouth, WE - Hear s & farel gL den fRw faam 7e?
@) 2km South @ 2kmNorth A =" (1) 18 ferst gfeor @) 4 et gfeqor
o il @ efefichm e 2fEltsW
38. Out the _followmg given four words, one i 4 .
different from the other three. Select the ode 51 8 = el T R v # O e S i A e 2
arie ' A S fawm w g |
1)  Yellow @ Blue @ e 2 e
(3  White @ Red | B W= @ W
39. A cube of side 8 cm ié painted red on all th o S‘ﬂaﬁqlﬂgﬁ%l m‘ﬂﬁsﬁﬂwg;ﬁ S'ET :}h :ﬂﬁ?ﬂﬁ
sides. It is then cut into smaller cubes, eachioff Eﬂ@l BB o & ey EHWE
side 2 cm. How many of these smaller cubes’ L = A T TR FT Al A
have one or more sides painted red ? : . -‘.313-'“5\]% oA T U A AP sl A A T
W 56 @ i g‘ W;;? I
@ 32 & 4 48 B 32 4 48
40. A solid brick of Gold measuri « 40, 1 Ei'i 18 cm x 48 cm x 16 cm 3T SRR FHi Fr
18 cm X 48 cm X 16 cm is melted and convert ﬁ,, ' aﬁ‘é‘éfﬁﬁaammﬁmﬁnﬁaﬁfaﬁm
into a cubical shape. An edge of this new shape T R 39 49t 311?[%[ & TH Y& (W) forges
isequalto: ' TEE?
(1 18cm 20 48cm : () 189 @ 48971
B 24cm @ 12cm @ 2497 (D~ 129,
C-8 SPACE FOR ROU WORK / T% &t & forg g TSAT
) V[ ‘- (5% 7
‘\‘ t Bl
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